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Instructions : (1) All questions are compulsory.

(2) Simple calculator can be used.
(3) Figures to the right hand side show marks of question.

. (A) What are Non-probability sampling methods ? Give its types. 3
1. (B) Write a short note on importance and scope of Statistics. 7
OR
1. (A) Give difference between Population and Sample. 3
. (B) What are Probabilistic sampling methods ? Give its types and explain any one In ;
detail.

s

2.  (A) Define mode and give its advantages and disadvantages.
2. (B) Find median from the following frequency distribution : /

sy Lot 30 3020]030[50 - 1] 60 70]r0 0] ors ran

OR
2. (A) Define geometric mean and find geometric mean of the observations 5, 8 and 25. 3
2. (B) Find mean and median from the following frequency distribution. Also find mode

using them 7
3. (A) What'is measure of dispersion ? Give measures of dispersion. 3
7

3. (B) Prepare Box-Plot diagram for the following data :
33, 47,17, 35,31, 65,9,29,39, 31
OR
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3. (A) Construct a stem and leaf diagram for the following data : 3
53, 94, 45, 56, 83
82, 67, 70, 66, 75
65, 77, 64, 78, 64

3. (B) Find Standard Deviation from the following data : 7
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Discuss the method of Spearman’s rank correlation coefficient and give itsuses. . .3

Eight members live in a family. The data of their weight (in kg) and height
(in cm) is given below. Find correlation coefficient between weight @and height by
using Karl Pearson method and also give its type. 7

Weight(nkp) | 80 | 09 [ 63 [ 92 | 60 | &7 ] 79004
OR

Explain the scatter diagram method of studying correlation between two variables. 3

The following table shows monthly wage and. the length of service (in years) of
seven persons in a factory. Obtain regression equation of monthly wage on the
length of service. If a person is having' 8 years of service, find his expected
monthly wage. 7

Leugth ofservice Ga years) | Pl [0 106 [ 3 [ 7 [ 4
Wage (n thousana® | 20030 17 31 | 24 | 32 | 28

5. Answer the following questions : (Any ten) 10

(1)
(2)
(3)
(4)
()

(6)
(7)

(8)
)

What is tabulation ?
Write any two names of one dimensional diagram.
Give names of measurements of scaling.

When is the given data called symmetric ?

The mean-and mode of 10 observations are 32 and 26 respectively. Find the
median. ‘
For two positive numbers, AM and GM are 9 and 6 respectively. Find HM.

Give the names of three symmetric curves having different heights in context with
Kurtosis.
Find median of the following observations :
15, 26, 7, 24, 10, 21, 12
Give two demerits of Arithmetic Mean.

(10) In rank correlation if £d? =0, thenr =
(11) Give practical example of perfect positive correlation.

(12) Write the equation of line of regression.
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